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SR M | 1 RR | smmsan | 8 XEMRE| BxToRER B HxHEE | BERE| W= B (BEBS| BS5 |BHthKE|sxexses|seses Z0EE
_ m/s m/s mm mm MJ MJ hPa % %
1:00[FH L7 Fii] 7 23.8 83.1 0 0 0 0 0 o] 10155 82.4
2:00[FEILE i} i 233 79.9 0 0 0 0 0 o] 10153 82.4
3:.00| AL A miLAE 23 88 0 0 0 0 0 o] 10153 825
4.00[3L 7 i) miLE 226 83.1 0 0 0 0 0 0] 1015.2 825
5:00| AL EH Jt7 miLAE 22 85.7 0 0 0 0 0 o] 10155 825
6:00[FEIL AL miLE 221 87 0 0 0 0 0 0] 1015.9 82.6
7:00] 78 [ A L7 226 82.3 0 0 0 0 0.16 0.16] 10162 82.6
8:00[FEILE B ] miLE 245 742 0 0 0.7 1.02 1.18] 10165 825
9:00[JtIL A FeE A 25.8 66 0 0 1.7 1.63 2.81]  1016.8 82.3
10:00[JE L i JtbE 26.7 63 0 0 2.3 151 432] 10171 82
11:00[dLJLEE ElA 273 55.3 0 0 3.1 1.62 5.94]  1016.7 81.6
12:00[3t JtitE ElAd 277 54 0 0 41 2.99 893 10163 81.2
13:00[dLILE it dLitF 284 50.4 0 0 5.1 3.01 11.94 80.7
14:00 [t 3L FE It It 28.9 49 0 0 6 2.79 1472 10154 80.2
15:00 e 3L 7 it it 29.2 4738 0 0 6.9 2.11 16.83]  1015.3 79.7
16:00[3t It It 289 473 0 0 7.6 1.17 18] 10155 79.2
17:00[ L L7 dtitF it 285 48.2 0 0 7.9 0.7 18.71] _1015.9 78.7
18:00(F i e 28.1 66.1 0 0 ) 8.2 0.23 18.94] 10163 785
19:00 | FAEI PR i} ekl 25 70.5 0 0 0 8.2 0 18.94]  1016.7 784
20:00 [t JtF FEE L] 244 711 0 0 0 8.2 0 18.94] 10173 78.3
21:00(/@ dL 8 RER 238 82.9 0 0 0 8.2 0 18.94]  1017.7 784
22:00[%& oot FEd 12 21.9 83.6 0 0 0 8.2 0 18.94]  1017.9 785
23:.00[JL3E I ] EIE @] 0.9 22.3 80.9 0 0 0 8.2 0 18.94] 1018.1 785
24:00:00[FIE it FaEa P 14 222 85.1 0 0 0 8.2 0 18.94 78.6
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E R M | )RR | sxmmsan | BRBMAE| SAToRAR HExHEE W= BHEE [(BREBS| A5 |H#tkE ERiRE
m/s m/s % mm MJ MJ hPa %
£35S . 70.2 1016.4 80.6
X i ] [AEZEE1 fii] 88.2 1018.2 82.7
FEEE 4:44 6:34
=& 455 78.2
HCRF 14:46 20:10
[ 0 8.2 18.94 18.94
B8 (%)
[ dbdesm [ dbzm [ FAksm | | | =@ | 3] [l FEEA | [ FEdLAE | B EA R | k:ﬂ'l_‘
AREEES1—)] 8.3] 0.1] 0.8] 3.3] 2.8] 26.4] 11.1] 17.4] 1] 0




